— 4
-— —
. 'V“‘~

VICTORY
4X4

4RUNNER REAR WINDOW
MOLLE PANEL
INSTALLATION INSTRUCTIONS

TOOLS NEEDED HARDWARE

* Pry tool * M6 x Tmm x 55mm Button Head qty. 2
+ 5/32" allen * 1 1/2" White Nylon Spacer qty. 2

* Phillips screwdriver * 1/4"-20 x 3/4" Button Head qty. 4

* 1/4-20 Flange Nut qty. 4

Your panel will work on either the drive or passenger side, so install it on whichever side

works best for you (or both).

Please read the instructions below carefully before attempting to install.



1. Remove the rear cargo net hook. Rotate to unlock it and pull it straight out.

Then remove the screw with your phillips screwdriver.

2. Now loosely install the rear bracket with an M6 Button Head and spacer,

like so.




3. Remove the plastic cover over the front mounting location (inside the

recessed area for the cargo cover) with a small flathead screwdriver or pry

tool. Then remove the screw behind it.

—/ —/

4. Now loosely install the bracket with an M6 Button head and spacer.

-




5. Pop the cover off of the hanger hook with a pry tool and remove the screw.

6. Put the hanger through the bracket and reinstall using the stock hardware.




7. With all three mounting brackets loosely installed, hang the panel using

two 1/4" button head bolts and flange nuts.

......lllh
MIIIIlalli

8. Now attach the remaining two holes with 1/4" button head bolts and flange
nuts. Once it is all loosely bolted together, level the panel and tighten all of
the bolts down. Don’t forget to clip the cover back on the hanger and pop

the cargo net hook into the new bracket.




9 The 4th Gen panel will install in the same way. See bracket locations

below.
4TH GEN 03-05 UPPER
06-09 UPPER

‘ I BY HATCH
BY SEAT

‘¢

EEEEE" "EEEL
-.-..-----l
..---.---.-
-....---.---.—
‘.---.-.----.-l
-..----------
I----------':; =
EssEEEEeE Y.

1 O That'’s it! Enjoy all of your new storage options!




